Lesson 16 (even problems must be solved in class, odd examples
must be solved at home)

186. y=cosax. Find y™. Ans. a"cos(ax-}-ni;.)

187. y=a*. Find y™. Ans. (Ina)*a*. 188. y=In(l+x). Find y™. Ans.
(=11 l—x n!

(-1)n l(l-‘-X)" . 189. yj]—_'_x- Find y». Ans. 2(—1)"(—1-:-l_7)-n—+—1. 190.
y -=e*x. Find y®. Ans. e* (x+n). 191. y=x7-1Inx. Find y'». Ans. (n—xl)l .

192, y=sin?x. Find y». Ans. —27-1cos (2x+n%). 193. y=xsinx.

Pind y™. Ans. xsin (x+n g—)—n cos(x-i—ni‘- . 194, If y=e" sin x, prove

2
that y"—2¢y'+2y=0. 195, y’=4ax. Find EE% Ans ?- 96. b%x® 4
d?y bt 3b%x
+ a®y?=a?®. Find P and ‘—13- Ans.—a,y,; —ar 197, x34-y?=r2,
— 2 o~ —
Find — R Ans y, . 198, y*—2xy=0. Find R Ans. 0. 199. p = tan (¢ + p).
2 4
Find %g. Ans. _2(5+8:))s+3p ). 200. secpcosp=C. Find :;g Ans.
tan? p —tan? @ _ ., d%y (1 —e*+Y) (ex —eY)
fa¥ o 201. e‘+x;e}’+y. Find HJc—z" Ans. GRS
2a°xy (i
202. y*+x*—3axy=0. Find — ot Ans. ~—axp 203. x=a(t—sint),
y=a(l —cost?). Find c‘i:yz Ans. —————l—t—.204. x=acos 2¢, y=>bsin?{.
4asin‘<7)
d2 . By 3cos ¢
Show that an:o. 205. x=acost, y=asin{. Find — g Ans —Asinbi
den . . dz2n+1 .
206. Show that —— xin (sinh x) =sinh x; AT (sinh x) = cosh x.



